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Questions 1 to 10 carry 1 mark each. Questions 11 to 15 carry 2 marks each.
For each question, four options are given. One of them is the correct answer.
Make your choice (1, 2, 3 or 4) and shade your answer on the Optical Answer
Sheet, (20 marks)

5
1 Janice is - as tall as Xiao Ming. What is the ratio of Xiao Ming’s height

to Janice's height?

(1) 6:7
(2) 7:5
3) 5&:12
4y 7:12
2 A pail contains 28 £ of water. A tank contains 800 times as much water

as the pail. How many litres of water are there in the tank?

(1) 16 400¢
(2) 22400¢
(3) 64400¢

(4)  224000¢




2 1
What is the value of 5 + ~5- ?

. 3
(1) 3

o~
N
St

) =

4 =

in the number line below, what is the value of X ?

23
2 8
T N T T M B R
T T T T 1T 1
T
X
(1)2%
@ 2
5
(3)271'6

“4) 2
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What is the value of 7 x =7

(3)

(4)

4

pizza did each person receive?

(1)

(2)

(3)

(4)

3
- of a pizza was shared equally among 5 people. What fraction of the
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Express 10.01 kg in kilograms and grams.

(1) 1ka1g
(2) 10kg1g
(3) 10kg10g

(4) 100kg10g

(1) $0.54
(2) $0.64
(3) $0.74
(4) $6.40

Sathya had 250 fruits. 50 of them were papayas, 110 of them were
mangoes and the rest were pears. What percentage of her fruits were

pears?

(1) 20%
(2) 36%
(3) 44%
(4) 64%



10

11

Which one of the following is likely to be the mass of a honeydew sold in
a supermarket?

The length, breadth and height of a box are in the ratic 3 - 2:1
respectively. The length of the box is 6 cm. Find the volume of the box.

(1)
(2)
(3)
(4)

25¢g .
25¢
2.5kg

250 kg

12 cm?3
18 cm?3
36 cm?

48 cm?
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12  The solid below is made up of 1-cm cubes. How many more 1-cm cubes
must be added to the solid to make it a cuboid measuring 4 cm by 3 cm

by 4 cm?
(1) 27
(2) 28
(3) 29

30

BP-40



13 The table below shows the number

of bicycles sold each month by a

shop.
} ‘Month Number of bicycles sold |
| January 53
| February 150
L March 124
| April 76
May 99
Which of the following bar graphs best represents the information shown
in the table?
(1)
Number of
bicycles
sold
January February March  April May
(2
Number of
bicycles
sold
January February March April May
(3)
Number of
bicycles
sold
January February March April . May
(4)
Number of
bicycles
soid

January February  Margh April May

75

BP~41
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3 1
Sally had some apples. gof the apples were red. She then gave 3 of

the red apples to her sister. What fraction of Sally's apples were given

to her sister?

1
Mz
2 2
G
;
Gy 15
@ _

The first 15 numbers of a number pattern are given below.

9,0,8,6,9,0,8,6,9,0,8,6,9,0,8, ..
1st 15"1

What is the 274 number?

(1) 0
(2) 6
(3) 8
(4) 9
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Questions 16 to 20 carry 1 mark each. Write your answers in the spaces
provided. For questions which require units, give your answers in the units
stated. (5 marks)

16 Find the value of 72+ 8 - 2x 3+ 77,

Ans:

S
17  The breadth of a rectangle is P m and its area is 2 m2.  Find the length
of the rectangle. Express your answer as a mixed number in its

simplest form.

Ans: m




18  The ratio of Shina’s test marks to Kyle's test marks was 3 : 7. Shina
scored 16 fewer marks than Kyle. How many marks did Kyle score?

Ans:

19 Round 199.99 to 1 decimal place.

Ans:

20 Mrs Pereira baked 400 tarts.  45% of the tarts she baked were egg tarts

while the rest were chocolate tarts. How many chocolate tarts did Mrs
Pereira bake?

Ans:
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Questions 21 to 30 carry 2 marks each. Show your working clearly and write

your answers in the spaces provided. For questions which require units, give

your answers in the units stated. (20 marks)

21 75% of a number is 36. What is the number?

Ans:

22  Derinda had 25 m of ribbon. She used it to make as many flowers as
2
possible. She used 3 M of ribbon to make each flower. How many

metres of the ribbon were left?

Ans; m

w
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1
23  Brenda had 6 £ of orange juice. She drank 3 of it in the moming and

1
gave 2 ¢ of it to her brother. How much orange juice did she have left
in the end?

Ans: 4

3 2
24  In a camp, the number of children is 3 of the number of adults. 5 of

the children are boys and there is an equal number of men and women.

What is the ratio of the number of girls to the number of women?

Ans;




25

Clarence, Amir and Jun Wei received some stickers. The ratio of the
number of stickers that Clarence received to the number of stickers Amir
received was 4-9. The ratio of the number of stickers Jun Wei received
to the number of stickers Amir received was 4 : 3. Clarence received
24 stickers. How many stickers did Jun Wei receive?

ADNS:

26

The ratio of the number of sweets Rachel had to the number of sweets
Euodia had was 2 : 3 at first. After Rachel bought 8 more sweets, the
ratio of the number of sweets Rachel had to the number of sweets Euodia
had became 5: 6. How many sweets did Euodia have?

Ans:

BP-48
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27 Mr Tan had $20 more than Mr Lee at first.  After Mr Tan spent $50 and
Mr Lee spent half of his money, both of them had the same amount of
money left. How much money did Mr Lee have at first?

Ans: §

28 Diane wanted to train for a marathon. She started by running 1.6 km in
the first week. She increased her distance by 1.2 km every week from
the previous week. Find the total distance that she ran in the first 5

weeks.

Ans: km




7 29 A wire 210 cm long was cut into 2 pieces and bent to form a rectangle
and a square. The length of the rectangle is 48.5 cm and its breadth is
38.5cm. Find the length of one side of the square.

48.5 cm

r 3

38.5 cm

Rectangle Square

Ans: cm

BP~50



30 The table below shows the number of toys collected by Sunshine Centre
in Year 2021 and Year 2022. Part of the table is covered by an ink blot.
The number of soft toys collected and the total number of toys collected
were both three-digit numbers.

Type of Toys Ye_ar éOZ‘i Year 2022 _Tj

Wooden Toys 121 8 |
Electronic Toys 65 74
Soft Toys 1 200
Total number of toys 354

Each of the statements is either true, false or not possible to tell from the
information given. For each statement, put a tick (/) to indicate your

answer.

Statement

True

Not
False | possible
to teli

In Year 2021, more than 50% of the
toys collected were soft toys.

In Year 2021, 20% of the toys
collected were electronic toys.

in Year 2022, the number of wooden
toys collected was 40% of the
number of soft toys collected.

End of Paper

BP-~51"
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Questions 1 to 5 carry 2 marks each. Show your working clearly and write
your answers in the spaces provided. For questions which require units, give
your answers in the units stated. (10 marks)

1 7
1 Jasper ran 6-1—0 km. lIrfan ran 2-1—8 km more than Jasper. How far did

they run altogether?

— Ans: km
1
2 The mass of each sack of rice is 45 kg. Find the total mass of 45 such
sacks of rice.
Ans: kg

3 Joy had a meal that cost $32.50 before GST at a restaurant. What was
the cost of her meal after adding 8% GST?

Ans: §
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4 Danny’s scores for 5 games are shown in the table below.
Game st | gnd | 3 4 5”"_}
Score g |0 7 |16 9 I

_Find his average score.

Ans:

5 Siti has the exact amount of money to buy 84 bottled drinks or 126
canned drinks. She has already spent some of the money to buy 39
canned drinks and 42 bottled drinks. How many more bottled drinks
can she buy with the remaining money?

Ans.
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For questions 6 to 17, show your working clearly and write your answers in the
spaces provided. The number of marks available is shown in brackets [ Jat
the end of each question or part-question. (45 marks)

6 Miss Wong bought two identical suitcases at a year-end sale. The two
suitcases cost $174 after discount.  Find the price of one such suitcase
before discount.

W\__/
YEAR-END SALE!i

40% discount for all suitcases

/\_/—\/

Ans: [31




Mr Mohammad took a taxi from home to his office.

His taxi fare was based on the charges shown below.

First 1 kilometre or less $4.30
Every additional 400 m or less $0.24
Every 45 seconds of waiting or less $0.24

The taxi stopped once at a traffic light and travelled a tota) distance of
7 km to reach his office. Mr Mohammad paid $8.10. What was the

longest possible duration the taxi stopped at the traffic light?

Ans:

(3]

BP-56



A rectangular tank measuring 32.5 om by 22.5 cm by 18 cm was

5
g—ﬂlled with water as shown below. When Kamala poured 7 litres of

water into the tank, some water overflowed. Find the volume of water

that overflowed. Give your answer in litres.

18 cm

22.5 cm

32.5cm

Ans; [3]
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9 Armrit had some sugar at first. He used 275 g of sugar to bake some

3
muffins and 5 of the remaining sugar to bake some cookies. In the

1
end, he had 3 of the sugar left. How much sugar did he have at first?

Ans: [3]




10

In a class of 42 children, the average mass of the children was 37.5 kg.
The average mass of the girls in the class was 36.7 kg. The average
mass of the boys in the class was 38.8 kg. How many more girls than
boys were there in the class?

Ans: (3]

BP-~59
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A group of children is put into 2 halls, hall A and hall B.  The ratio of the
number of children in hall A to the number of children in hall Bis 3: 8,
In hall A, the ratio of the number of boys to the number of girls is 5 : 2.
There are 18 giris in hall A. Find the total number of children in both
halls.

Ans: : [3]

=)

BP-~60



12 In the figure below, ABCD is a trapezium, APB, DQC, RCS and PQR

are straight lines. APB is paraliel to DQC and AD is parallel to PQR,
ZBCS =50°, /BCQ =90° and ~QRC = 95°.

(a) Find ZDQP.

Ans: (a) [2]

(b) Find ZADQ,

Ans: (b) [2]

BP-61
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Ashraf had some money at first.  He spent 15% of it on food and $810
on a new laptop. He then gave 20% of the remainder to his brother. In
the end, he had $304 left.

(a) How much money did Ashraf give to his brother?

Ans: (a) . 2]

(b) How much money did Ashraf have at first?

Ans: (b) [3]

10

BP-~62
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14 Susan had 117 beads and marbles altogether. The beads and marbles
were either white or black. 20% of the beads and 50% of the marhles
were white.  There were as many black beads as black marbles.

(8) In the statement below, circle the phrase ‘more than', ‘fewer than’
or ‘the same as’ that correctly describes the comparison between
the number of beads and marbles Susan had.

The number of beads Susan had was
( morethan / fewerthan / the same as )

the number of marbles she had.

(b) How many beads did Susan have?

Ans: (b) _ i3]

11




15

Christopher and Helen had 1044 erasers altogether at first.  Christopher

4 5
gave ¢ of his erasers to his brother. Helen gave 3 of her erasers to
her sister. In the end, Helen had 150 erasers more than Christopher.

How many erasers did Christopher have at first?

Ans; [4]

BP~64



16 The figure below is made up of 2 squares, ABCD and DEFG. X is a
point on GD and Y is a point on DE. BC = 7 cm, FE = 6 cm and

XD = DY = YE.
B A
G F
X
7
fFem 6 cm
o Dy E

(a) Find the total area of the shaded parts.

Ans: (a) {3}

(b) What fraction of the figure is unshaded?

Ans: (b) (2]

13

BP-~65



17 The table below shows the number of clips in different coloured

containers.
Colour of container Number of clips in each container
White 30
Blue 50
Green 60

(a) Gwen has a total of 10 white containers and green containers.

What is the smallest possible difference between the total number
of clips in Gwen’s white containers and the total number of clips in
her green containers?

Ans:. (a) (2]

Clement has some white containers and some blue containers.
The ratio of the total number of clips in Clement’s white containers
to the total number of clips in his blue containers is 3: 2. Express
the number of his blue containers as a fraction of the total number
of his containers.

Ans:  (b) , [31°

End of Paper

14
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Questions 110 10 canmy 1 mark each, Questions 11 lo 1§ cany 2 marks each.
For each queslion, four bptions are given. One of them is-the correct answer,
Make your cholce {1, 2. 3 or 4) and shade your answer on the Optical Answer
Sheet. (20 marks)

Name: { )

Primary 6 ( }

3 What is the value of §+-::? .

10,

3
s T

s

o)W

)}

@ = = 1B
15

(3)

)]

@

4 In the number fine below, what Is the value of X 7 9 iy
6
. 23
| ' 1 ; |
- [ ] } | J i
1 1 I 1 i I * 1
X
s
w2 e
4
@ =
1
s ()
(3] ZE
1
4) %

g

k
1 Janice is > as tall as Xiao Ming. What is (he ratic of Xiag Ming's heighl
7 o=

e—
1o Janice's helght?

wiac M’S} : Janice

)y 5:7 705
(2 7:5
(3 5012 (2)
(4 7:12

2 A pail contains 28 [ of water. A tank contains 800 fimes s much water

as the pail. How many llires of water are Ihere in the lank?

(1) 16400t
(2) 22400t 38 X 800 =20 X8 X100
(3) 64400t = 22h %00
(9 224000t = 35 400
(3) ¢
29
X8
e
5 Whallsnmvaluam;-:i?
a5 _ s
o 3 T3 * g
15
(@) 71
15
@ 3 (»)
8
(4) 3

3
€ 12{ a pizza was shared equally among 5 paople, What fraction of the

plzza did each person receive?
3
o %
4 3.5
@ % L
K o F
@ 2 =3 L
T4
W =
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10 Which ane of the Toliowing is likely to be the mass of 2 honeydew sokd in

235 10, in kil rams.
7 Express 10.01 kg in kilograms and gi a supermarkel? :

~
00l ¥ 1000 = {0

(1) 1kglg
(z) 10kg1g
(3) 1Ckg10g (3)

(4) 100kg 1G¢

G (3)
& Minely identical pencils cost $57.60. Whas is the cost of one such pencil? () nsg
2) 259
P = . =g =10 =
M 5054 $5160 = 90 = £57 o =9 (3) 25kg
(2 -
2z snes s $h40 TIO (4} 250kg
3)  $0.7 .
@ s = $0bY (40
{4) 56.40 Dg‘a L: B:H
(2) 3t 11 The tength, breacth end height of & box are in the ralio 3: 2 1
~3F respeglively. The length of the box is B cm. Find the valume of the box.
L]
Sathys had 250 fruits. §0 of them were papayas, 110 of them were
mangoes and the rast were pears. Whal percentage of her Fuils were
pears? 1) 12em? % unds = boam
(2) Eem® TR -
] umr = 5=3
pears —» 250 — 50 — IO 8w .
1y 20% _ _
@ 6% - 0o —Ho (® 4scm 2 wits = 22
= ﬁo = |+
(3)  44% . (1) .
- sh  Heigir
@ 6% g0 _ 9w - W@ = lengh * Bread g
350 28W = 4 xn A2
= 2 > s g2
- . 100 ) s . C H—)
- - A_
- 36 70
" m;;:;idg:%’:: ;i: 3'.'.3";;'.‘3 g ;;{no;‘:ncmmz.ut;:;,::;nq:y 3 cr: 13 The table below shows the number ul bloydes suld sach sionth by 8
by 4 em? shop.
- T_wonth
f January
February
March
Apdl
May"
1 .
Which of the following bar graphs best represants the information show
* inthe table?
¢ )
16
Number of!
bicydes
/ sold
danuary Februsry March  April May
@
= of
ArIrl = 234 N;r;b:res
sald
M 27 = A8
{2) 28 Jenuary February March  Api) May
5 .
(3) 28 @
4446 +o = 2 Number of|
{4y 30 P& bicycles
sold
AB-21 =27 (I) January February March  April May
“@
Numbet of
bicyales
sold *

January Februsry March . Apill  May

S )



3 1
14 Sally had sonie apples. gof Ihe apples were.red, -She then gave 3 of

the red apples to ter stster. What fraclion of Sally's apples were given

to her sister?
1 3.4 . 3
2 i 2 o}
o 5 !
2) =

3) - (3)

(4)

15 The first 15 numbers of a nurber pattem are given below.
fotien

P
#,0,8,6,9,0,8,6,9,0,8,6,9,0,8, ...
e 15t

Whal is he 274" number?

2714 4 = 43R2 68

1 o : &famy
@ s ‘ 0) =32
-— 2

4 9 -

Questions 16 {o 20 cany 1 mark each. Write your answers in the spaces
provided. For questions which require units, give your ainswers In the units
stated. (5 marks)

16 Findthevalue nf72+B~-2x3+77,

7228 ~1%3 477

§

9 -2x%x34177
= 9-5+417

= 3411

= fo (any)
Ans: &o

17 The breadth of a rectangle is % mand fls areals 2 m?.  Find the tength
of the rectangle. Express your answer as & mixed numbar in fts
simplest form.,

length = 2 % ¢
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s K
18 The ratio of Shing'’s lest marks to Kyle's test marks was 3: 7. Shina

scored 16 fewer marks than Kyla. How mary maiks did Kyle score?

1-3=4
4 unts =16
| uni¥ = lb"-’lf-
=4
T units = 4 x7
o = 28 (ong)
Ans: 28

19 Round 199.89 to 1 decimal place.

o
199- 9% % 200-0 (any)

Ans: 200.0
—

20 Mrs Pereira baked 400 tarls.  45% oftha laris she baked were egg tarts
while the rast were chocolate larts, How many chocolate tarts did Mrs

Peruia beka?
) L =55% =
0% ~45% =5 -
%-Zx“if—" = Asky
55 % qoo - = igo
10D !
. 400 - [8o = 5ap Lang)
= 55xk4
= 220 Cans) -
Ans: _ R0




afy and wite

CGuestions 21 to 30 camy 2 marks each. Show your working sie:
re units, give

your answers in the spaces provided. For questions which raquil

your answers in the units slated, {20 marks)
21 75% of & numberls 36. What s lhe number?
®
e, > 3t BEN I
Ny
<2
‘(35%—>%%3 3L 4
T{, el
. ( = 12 ;
"L‘:\l/ i L“l = 367 2
1on h = 12x4 [ -
= 48 {ans l R A
| = 4% (o)
48

Ans: . Tve

22  Darinda hed 25 m of ibbon, She used it 1o maks as many flowers as

2
possible.  She used 3 m of ribbon to make each flower. How many

S -
metres 6f the ribbon were left?

. r CF
o 2 s 3
51 A I
)75
-6 = 15
[ p3
ey = 713

wl

AnS | e M

Olarence, Amic and Jun Wei receiien snme stickers The ratio oi the
nmumbee of slickers ihat Clarenge recetved to the nuniber of stickers  Armir
racelvadwas4: 9. Theratio ofthe number of slickers Jun Wei received
to the number of atickers Amir received was 4 : 3. Clarepce received
24 stickers.  How many stickem did Jun Wei receive?

h]

+ 2
carene = Amir Jun wel Arie
4 9 4 3

2t 9
A untsS =24
) ounit =R h
= b

12 units = b %12

= 1) (ans) Ans: 12

28 The ratlo of the numbsr of sweels Rachal had to tha numbar of sweels
Euodia hed was 21 3 et fral.  After Rachel bought 8 more sweeis, the
ratio of the number of sweets Rachel had to the number of swaets Evodia

had became 5 : 8. How many sweets did Euodia have?

M &rﬁ’ ’ &nd,
flamel @ Ewodia Rachel © Euedia
2 3 5 b
4 b
s-4=}
L unt = g

b unts = §X6
Ans: A€

- AR (ans)

Euocia eovsiant

BP-70

43

N 1
23 Brenda had 6 { of orange Juice. She drark 5 of itin the moming and

1
gave ; £ of it to her brother.  How much orange juice did she have leR

in the snd”?

moming — T %

L > p-3 %
= 3__2}_
:3%_#

i

2t 2 (and)

Ans:

3
24 in a camp, the number of children is s of the number of adulis. % of

{he children are boys and there is an egual number of men and women,

What is ke 1o of the nurmbers of gits to the number of v.imcn?

+
chindren © Adutr boys ! girls : children
3¢ 8 2 :1 9
9 = %
222212

Girls © Women
70 12 fans)

Ans: - RENE -
%
27 ¥rTan had $20 more than Mr Les at fist.  After MrTan spect $5( and

Mr Lee apant hail of his money, both of tham had the same amount ot
ey et How much monsy did MrLeg havo ot imt?

it Fent 50
My Tan i £10
Wt [T ]
N o, J
et syenY

} unt = $50- $20
= %30

2units = &30%2

= $bo (on)
Ans: 560

28 Diane wanted to tmin for amamthan.  She startad by runmning 1.6 kmin
the first week. She Incransed her distance by 3.2 lan avery wesk from
the previous week. Find the lotal distance that she ran in the first §

weeks,
W De
md b 412
7

3 ik 2 +-2

4 b 4 2 A2 403
IR C

16%5 = 8

F2R0 =12 "
P43 = 20 (ans) Ans:




29 A wire 210 cm long was cul into 2 pieces and bent to form a rectongle
ard a square. The longll of i reclangte is 48.5 wn and Its breudin (s
38.5cm.  Find Ihe length of one side of the square.

48.5 ¢m
3B.5em
4
L_Jte
Reclangle Square
o Perimetnr of rectangle = (A4F.5 +38.5) %2
485
+ 385 - 57 %2
90
= 7y
'$7 200 - I < 34
¥
4
36 *4 = 9 m can)
1o ’
tayg !
-
3b
S

B r—#@m
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a0 The lable below shows Ihe number oftoys collected by Sunshine Cente

in Year 2021 and Year 2022,

Parl of ihe lablé is covered by an ink blot.

The number of soft foys collected and the lotal number of toys collectad

were both lhree-digh numbers.

Year 2021_ 7

Type of Toys Year 2022
Wooden Toys 121 BO
Electronic Toys 65 74

INSTRUCTIONS TO PUPILS

1. Do not turn aver this page untl you are toid to do so.
2. Follow all instruclions carefully,

3, Answer all questions.

4. Write yous answers in this booklet.

5. The use of an approved calculator is allowed,
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should be raised at the same tims when retuming papar.

Plaase sign and retum thé examination paper the next day. Any queriss l

Soft Toys

? 200
A 354

Ezch of the stalernents is either true, fafse or not possibie to tell from the
informalion given, For each statement, put a tick {./) lo indicale your
answer.

Not |

Tolal number of toys

Statement True False | possible
{o leit
DRSS ZH | vear 2021, more than 50% of the v
toys collected were soft toys.
0% Z’i 3 |In Year 2021, 20% of the toys
0% 5 collected were slectronic toys, v’
= 31«
0% -5 33-5%4
= 325 | InYear 2022, the number of wooden
loys eollecied was 40% of the ‘/‘
121 +65+180 number of sofl loys collected.
= 186 160 sy,
= 366 100
= 40%

Bl foys i Joa k5 ar leas+ 366 End of Paper

Queations 1 to § camy 2 marks each, Show your working clearly and write
your answers in the spaces provided. For quastions which nequire units, give

your answers In the unita stated,

(10 marks)

1 7
Jaspec ran 817.- km. Irfap ran 2—-ﬂ km more than Jasper. How far did-

they run allogether?

\fan = 3%*’61‘5
- 98

8B et =R (o

Ans:

Thermssofaachnckamuls% kg.  Find the total mass of 45 such
sacks of rice.

4% %45 = 139 ()

Ans: 129 kg

Joy had a meal that cost $32.50 before GST at a restauranl.  What was

the enstof her meal aftyr agging §% 5517
mo°h +8% =%

.!13 x $32.50 . $35-10 (ann
Lo '

Ans:5_35:10




Danny's scores for 5 games are shown in the table below.

4
lGame st {gne | ga g gw | 5P
licure B o} 7 8 ) 9
Find his average score.
940 + 1t +1 20
s —
5 5
=8 ()
Ans: 8
5 Sitf has the exacl amount of money io buy 84 boliled orinks or 126

canned dinks. She has already spert some of the maney o buy 39
conned drinks and 42 boitled drinks. How many more bottied drinks

can she buy with the remaining money?

S botted -3 DL conned
| botted > %—; can0ed
BN
=15 2%
25 potHed -3 39 conned

-2 - 525 b {unf)

Ansz

—

Mr Moharnmad foak & taxi rom home 10 his office.
His taxi fare was based on (he charges shown below.

First 1 kiometre of lass $4.30
Fvefy arrilional 400 m or less $024
Every 45 ds of waiting or less 3024

The taxi stopped onee at a traflic ight and fravelied a total distanga of
7 km to reach his offica. Mr Mohammad paid $9.10. What was the

longest possible duration the laxi stopped at the traffic fight?

1-i=6

L pn= boom

so00 * Hoo =15

15 % 0.2 = $3:60

$3-60 & $4.30 = 3170

#9-10 — £7.90 = #1J0

4120 + $0. 24 = ¥

5%45 = 235 s (ant)

Ans:

25 s

13
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For questions 6 to 17, show your working clearly and write your answers in the
spaces provided, The number of marks svaitable is'shovsn in breckets [ ] at
the end of each question or part-question. {45 marke)

[ Miss Wong bought two identical suitcases 2l 2 vear-end sale. The two
suilcases cost $174 after discount.  Find the price of one such sulicase
before discount.

/'“\/_—'\\\/
i
YEAR-END SALE!i}

)
A0% discount for all suilcases |

—

5

i sucase qfler  discount =5 w2
= 37

oY% ~tho% = o

0% - £21
lo%h - g7 %8
= %15 50

b
Mo

0% ~> $n-50 o

$iug (ans)

Ans: F1a5 12

B A rectangular tank measwing 32.5 cm by 22.6 cm by 18 om was
S
a—-ﬂllad with water as shown below, When Kamala poured 7 litres of
water into the tank, some waler overflowed. Find (he volume of water
that querflowed.  Give your answer in lilres.

33.5 ¥ 225 %8

&
2
%o
g

B 162 S

l—

Sla
v
D%

% ¥ 13162-5 = 5850

+

3 - = H50
1+ 7000 am “loog 5850

B0 em® = p1s & (ant)

Ang 15 4 B




o Amnt horl soma mugne at iest. . Ha uend 7 9 of sugar la bakn rome

4
muffins and E of the remaining sugar (o bake some cookies. In The

end, he had E' of the sugar leR,  How much sugar did he have at first?

remainder
—

LﬂSs\lJé_J____#J

(ooKies eft

sugor =3 D unikg

— 2tg

= (b unids

-5 =1
=275
uni+ = 2775 T )

= 25

1t uniks

o units = 25 Y4y

T 4o0g Cany)

Ans: 400 g 31
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whass bf 42 eliliion, Qo sveruge s s of ue coldron was 34.5 kg.
The averdye rass of e gils in the class was 36.7 kg. The average
mass of the boys in the class was 38.8 kg. How many more gifts than
beys weig Bidie b e duss?

A ey

B |

.
Sup position _method

-

42 %375 = 1575

f Suppese al 4) are gwis
2T E ~3077 0.8 " A2X3T 2544
/T\ I
neeg 4o op up f 1575 - 1544 =33
°¥ K per gl !
i 38.82—3¢.7 = 240
3883715 5 1.3 :
'i‘ { 336 v 210 7 b5 i
need v dnte i
away 1.3 g l 42-1 =06 5 gine
per
e, 26=ib =10 (gas)
B+8 =i
42223 =22 ]
13X2 =2 — number of girls ;
8X2 21t -5 number ol beyy J'
% -th =10 (any)

A group of children Is put fnlo 2 halls, hal A and hall B, The ratio of the
number of chifdren in hail A ta the number of chikirén in ha 8 is 3 - 8.
In hall A, Ihe ratho of the rumbar of boys lo the number of gins is & : 2.
There are 18 gids In hall A.  Find the lotal number of children in bolh

halls.

1

In R,
A:B Boys @ Gicls : doinl
3.8 5 2 73
N 56 5 > 6 ¢ al
b units =g
I unt 2 R4
= 3
MN+56+7 717

7T uniys = 377
* 23) (ans)

Ans; Bl @

12 i the figure below, ABCD i a trapezium.  APB, DQC, RCS and PQGR
are straight lines.  APB Is paraliel to DQG and AD is parallel to PQR.

£BCS = 60*, ZBCQ = 90° and LQRC = 95°,

(a) Find <DQP,
Zre@ = 180°- 90°-5p

= 40‘
ZRAC = 180°-95°-40
7 457 (ang
= Zpap o
Ans: (a) 435 @

(b) Find zADQ.
. Znva - o -45°

=135 % (ans)

; ) Ao By ___ 135 g

7




13 Ashral hed some money ai first.  He spent 15% of it on food and $810
onanew lapiop, He then gave 20%of tha refnainder to his brother.  in
the end, he had 5304 iefl.

(2) How much monsy did Ashral give {o his brother?
oo —20% = 90%
poth of remander —» %904
H ( . ; n s
/a0h o€ remander —» 394 2k
8% (ow)

Ans: {a) 578 21

{b} Hovs much money did Ashraf have al first?

remginder  —> $76 X E
S $3%0

o0%h — 5% = PSh

95 % = $38 +%80
= $p90
1% -3 4190 = &5
s $y
wo‘fa - f1% Xi00
= $hoo (on3)
Aw, ) . %tdoo 1)

10

15  Christopher and Heten had 1044 erasers sitogether gt firal: Christoptwr
' 5
gave % of his erasers o his hrather. Hnalan gave ¥ af her erasars (0
her sister. in the end, Helen had 150 arasers more than Christophar.
How many erasers dic Chistopher have at ficst?

Wit qare
Chistophes
& ottt
woo LI TTT]
[Py Y——
left \ gart

&mau em o ihe
ame  unt

ossmer (T
weor  [TTFR

iso0+3= 50
345 = IS unis - Gwstopher
SRE = apo
8 unds + 400 -3 pelen
548 = 23
2% units 4+ 400 .~ Phi
23 units > {hy

| urit = fna 23
= 28 . 430 [41
1S units = 28 %15
= 420 (ars)

- 1

14 Susan hed 117 beads and marbles allogether. The beads and marbles
were eilher white or black.  20% of the beads and 50% of the marbles

were white. There were as many black bead: marbles.

{a) In ihe statement belaw, circle the phrase ‘more than', 'lewer than'
or 'lhe same as' that cormectly describes the comparison betveen
(he numter of beads and marbles Susan had,

The number of beads Susan had was

{ more than /(@I the same as )

the number of marbles she had.

m

(b) How many beads did Susan have?

BP-~74

T

= AS (ans)

0%
Bo % e
—— Bark A
boss (T T 1
. : } 1]
martte [ o 4 R
— gk —HE—— whte, —D
o 50%
. 4
0h = 3 .
5 2 4p > M
0% * _JL “
=82 FgH
13 unis =0T )
Voumd = 3513 S+68213
H C’ i3 unity =817
S ity = W7
S units = %5 U
T 45 (ans)
Ans: (b} 45 13

16 The figie below is made up uf 2 squsies, ABCC and DEFG. Xisa
paint on GD and Y Is a point on DE. BC = 7 dm, FE = 6 cm and

XD =DY =YE.

(@) Find the total area of the shaded paris.
t+2=3
Aea R ARCD = 37T
= 145

Aren of AXYF = g of DEPG — Area ADYY —fven AYEF — ke ¢
s (prt) — (F5373) = (Be3W) — Gaave)

= 3% - 45-9-9
s nB-5 .
2454135 = 32am” ANy (@) 3%’
{b) What fraction of the figure is unshaded?
pm o Rgue =(Tx7)+(6%0)

= 49 436
* 35
weraded > 85 - 38
=M
urshoded 47
Gt T2 e (an) A7
\
e © ot ) =~
i 13

&)



i the lable LClow shows the numier of chips in dilterent coloured
containers,
_______Colourof conlainer Number of clips In each container
While 30
Blue S0
Green &0

(a) Gwen has a total of 10 white containers and green containers.
What is the smallest passibls differense between the folal number
of ¢lips in Gwen's white contalners and the tolal number of clips in
her green containers? - X o e
Numbher of dips o green copiainer U wie

number of gips @ e corainer .
For @ey 3 whd aniaines 4o | green conjainer, the

diffeene W Zero .

241z 3
o =3 =3R4
2= 7

\o =123 7430 2210 Ans: (@) 30 @)
ERYLEIY: 20 =160 30 (ans)
(b} Clement has some white containers and some blue contalners.
The ratic of the total number of cfips in Clement's while contafners
1o the total aumber of clips In his blue conlatoers is 3 ; 2. Express
the number of his blue containers as a fraction of the tofal mber
of his conlainers.

whde chips - biue cips
5 : 2
50 : 100
150 43025 ~y whit condainer
007 50:2 -3 bive covhaines
248527
blue .

a 2
ol T ) Aas (b)) 7 @)

End of Paper

1a

g
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